Chapter 8

DC Inductor Design Using Gapped Cores
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Introduction
Designers have used various approaches in arriving at suitable inductor designs. For example, in many
cases, a rule of thumb used for dealing with current density is that a good working level is 200 amps-per-
cm’ (1000 Cir-Mils-per-amp). This rule is satisfactory in many instances; however, the wire size used to
meet this requirement may produce a heavier and bulkier inductor than desired or required. The
information presented herein will make it possible to avoid the use of this and other rules of thumb and to

develop an economical and a better design.

Critical Inductance for Sine Wave Rectification

The LC filter is the basic method of reducing ripple levels. The two basic rectifier circuits are the full-
wave center-tap as shown in Figure 8-1 and the full-wave bridge, as shown in Figure 8-2. To achieve
normal inductor operation, it is necessary that there be a continuous flow of current through the input

inductor, L1.
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Figure 8-1. Full-Wave Center Tap with an LC filter.

Full Wave Bridge

Figure 8-2. Full-Wave Bridge with an LC filter.
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The value for minimum inductance called critical inductance, L. is:

Where:

o(max})

(ert) = 360 4 [8_1]

L [henrys]

w=2rf
f = line frequency

The higher the load resistance, R,, (i.e., the lower the dc load current), the more difficult it is to maintain a

continuous flow of current. The filter inductor operates in the following manner: When R, approaches

infinity, under an unloaded condition, (no bleeder resistor), I, = 0, the filter capacitor will charge to V1,

the peak voltage. Therefore, the output voltage will be equal to the peak value of the input voltage, as

shown in Figure 8-3.

Output Voltage, V

Vo
K\ - L(c )~ Critical Inductance
» VO

Load Current, I o

Figure 8-3. Critical Inductance Point.

The ripple reduction from a single stage LC filter can be calculated, using Equation 8-2 and Figure 8-4.

{volts-peak] [8-2]

v, o=y ||
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Figure 8-4. LC Filter Ripple Reduction.
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Critical Inductance for Buck Type Converters

The buck type converter schematic is shown in Figure 8-5, and the buck type dc-to-dc converter is shown
in Figure 8.6. The buck regulator filter circuit shown in Figure 8-5 has three current probes. These current
probes monitor the three basic currents in a switch mode, buck output filter. Current probe A monitors the
power MOSFET, Q1, switching current. Current probe B monitors the commutating current through CR1.

Current probe C monitors the current through the output inductor, L1.

The typical filter waveforms of the buck converter are shown in Figure 8-7. The waveforms are shown
with the converter operating at a 0.5 duty ratio. The applied voltage, V1 to the filter, is shown in Figure 8-
7A. The power MOSFET, QI, current is shown in Figure 8-7B. The commutating current flowing through
CR1 is shown in Figure 8-7C. The commutating current is the result of Q1 being turned off, and the field
in L1 collapsing, producing the commutating current. The current flowing through L1 is shown in Figure

8-7D. The current flowing through L1 is the sum of the currents in Figure 8-7B and 8-7C.
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-0 : O-

ICurrent Probe B
Figure 8-5. Buck Regulator Converter.

The critical inductance current is shown in Figure 8-8, 8-B and is realized in Equation 8-3. The critical
inductance current is when the ratio of the delta current to the output load current is equal to 2 = Al / 1,. If
the output load current is allowed to go beyond this point, the current will become discontinuous, as shown
in Figure 8-8, 8-D. The applied voltage, V1, will have ringing at the level of the output voltage, as shown
in Figure 8-8, 8-C. When the current in the output inductor becomes discontinuous, as shown in Figure 8-

8, 8-D, the response time for a step load becomes very poor.

When designing multiple output converters similar to Figure 8-6, the slaved outputs should never have the
current in the inductor go discontinuous or to zero. If the current goes to zero, a slaved output voltage will
rise to the value of V1. If the current is allowed to go to zero, then, there is no potential difference between

the input and output voltage of the filter. Then the output voltage will rise to equal the peak input voltage.
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L(crirical) = 27 (i) » [henrys] [8_3]
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Figure 8-6. Push-Pull Buck Type Converter.
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Figure 8-7. Typical Buck Converter Waveforms, Operating at a 0.5 Duty Ratio.
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Figure 8-8. Buck Converter, Output Filter Inductor Goes from Critical to Discontinuous Operation.

Core Materials, Used in PWM Converters

Designers have routinely tended to specify Molypermalloy powder materials for filter inductors used in
high-frequency, power converters and pulse-width-modulators (PWM) switched regulators, because of the
availability of manufacturers’ literature containing tables, graphs, and examples that simplify the design
task. Use of these cores may result in an inductor design not optimized for size and weight. For example,
as shown in Figure 8-9, Molypermalloy powder cores, operating with a dc bias of 0.3T, have only about
80% of the original inductance, with very rapid falloff at higher flux densities. When size is of greatest
concern then, magnetic materials with high flux saturation, B, would be first choice. Materials, such as
silicon or some amorphous materials, have approximately four times the useful flux density compared to
Molypermalloy powder cores. Iron alloys retain 90% of their original inductance at greater than 1.2T. Iron
alloys, when designed correctly and used in the right application, will perform well at frequencies up to
100kHz. When operating above 100kHz, then the only material is ferrite. Ferrite materials have a negative
temperature coefficient regarding flux density. The operating temperature and temperature rise should be

used to calculate the maximum flux density.
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To get optimum performance, together with size, the engineer must evaluate the materials for both, B, and
B,.. See Table 8-1. The operating dc flux has only to do with IR losses, (copper). The ac flux, B, has to
do with core loss. This loss depends directly on the material. There are many factors that impact a design:

cost, size, temperature rise and material availability.

There are significant advantages to be gained by the use of iron alloys and ferrites in the design of power
inductors, despite certain disadvantages, such as the need for banding and gapping materials, banding tools,

mounting brackets, and winding mandrels.

Iron alloys and ferrites provide greater flexibility in the design of high frequency power mductors, because
the air gap can be adjusted to any desired length, and because the relative permeability is high, even at

high, dc flux density.

100 — T -
'\
S 90 O\
g e\
B
E \
= 80 -
p 60, 125, 160, 2000 ——N—>|
S Vo
s 70
29 550 — \
MPP Powder Cores \
60 ........ t
N o s
0.001 0.01 0.1 1.0
Polarized Flux Density, tesla
Figure 8-9. Inductance Versus dc Bias.
Table 8-1. Magnetic Material Properties
Magnetic Material Properties
Material Initial Flux Density|  Curie Density
Name Composition | Permeability Tesla Temp. grams/cm3
Hi B, °C 8
Silicon 3-97 SiFe 1500 1.5-1.8 750 7.63
Orthonol 50-50 NiFe 2000 1.42-1.58 500 8.24
Permalloy 80-20 NiFe 25000 0.66-0.82 460 8.73
Amorphous 81-3.5 FeSi 1500 1.5-1.6 370 7.32
Amorphous 66-4 CoFe 800 0.57 250 7.59
Amorphous(p) | 73-15 FeSi 30000 1.0-1.2 460 7.73
Ferrite MnZn 2500 0.5 >230 4.8
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Fundamental Considerations

The design of a linear reactor depends upon four related factors:

1. Desired inductance, L

2 Direct current, I,

3. Alternating current, Al

4 Power loss and temperature, T,

With these requirements established, the designer must determine the maximum values for, Bg, and, B,
that will not produce magnetic saturation. The designer must make trade-offs that will yield the highest
inductance for a given volume. It should be remembered the peak operating flux, By, depends upon, By +

B.., in the manner in Figure 8-10.

B

pk

B
=B, + ;C, [tesla] [8-5]

047N, (107%)

B =—————" [tesla] [8-6
e [MPL] [tesla] [8-6]
I+ ——

lLlIrI

= [tesla] [8-7]

[tesla] [8-8]
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Figure 8-10. Inductor Flux Density Versus Iy + Al Current.

The inductance of an iron-core inductor carrying direct current and having an air gap may be expressed as:

047N 4.(107)

L-—-——(—ﬁij—, [henrys] [8-9]
[+ ——

:le

g

This equation shows that inductance is dependent on the effective length of the magnetic path, which is the
sum of the air gap length, 1,, and the ratio of the core mean length to the material permeability, MPL/p,,,.
When the core air gap, l,, is large compared to the ratio, MPL/,,, because of material permeability, i,
variations in [, do not substantially affect the total effective magnetic path length or the inductance. Then

the inductance Equation [8-9] reduces to:

L 0.47rN21AC(108)

g

, [henrys] [8-10]

Final determination of the air gap size requires consideration of the effect of fringing flux, which is a
function of gap dimension, the shape of the pole faces, and the shape, size, and location of the winding. Its
net effect is to shorten the air gap. Because of the fringing flux it is wise to lower the initial operating flux

density, 10 to 20%.
Fringing Flux

Fringing flux decreases the total reluctance of the magnetic path and therefore, increases the inductance by
a factor, F, to a value greater than that calculated from Equation 8-10. Fringing flux is a larger percentage

of the total for the larger gaps.
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The fringing factor is:

a
g

I
F=1+—% h{zl—(;} [8-11]

I

Where G is the winding length, defined in Chapter 3. This equation is valid for laminations, C cores and

cut ferrites. Equation [8-11] is plotted in Figure 8-11.
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Figure 8-11. Increase of Inductance with Fringing Flux at the Gap.

As the air gap increases, the flux across the gap fringes more and more. Some of the fringing flux strikes
the core, perpendicular to the strip or tape, and sets up eddy currents, which cause additional losses in the
core. If the gap dimension gets too large, the fringing flux will strike the copper winding and produce eddy
currents, generating heat, just like an induction heater. The fringing flux will jump the gap and produce

eddy currents, in both the core and winding, as shown in Figure 8-12.

The inductance, L computed in Equation [8-10], does not include the effect of the fringing flux. The value

of inductance, L’ corrected for fringing flux is:

e O.47erjAc(1()8),

g

[henrys] [8-12]
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Figure 8-12. Fringing Flux Around the Gap of an Inductor.

The effect permeability may be calculated from the following equation:

- M [8-13]

Where, L, is the material permeability.

Inductors

Inductors that carry direct current are used frequently in a wide variety of ground, air, and space
applications. Selection of the best magnetic core for an inductor frequently involves a trial-and-error type

of calculation.

The author has developed a simplified method of designing optimum, dc carrying inductors with gapped
cores. This method allows the engineer to select the proper core that will provide correct copper loss, and
make allowances for fringing flux, without relying on trial-and-error and the use of the cumbersome

Hanna’s curves.

Rather than discuss the various methods used by transformer designers, the author believes it is more useful
to consider typical design problems, and to work out solutions using the approach based upon newly
formulated relationships. Two gapped core designs will be compared. To compare their merits, the first

design example will use the core geometry, K,, and the second design will use the area product, A,,.

Inductors, designed in this handbook, are banded together with phosphor bronze banding material, or held
together with aluminum brackets. The use of steel banding material; or brackets that bridge the gap are not
recommended, because the use of steel across the gap is called shorting the gap. When the gap is shorted,

the inductance will increase from the calculated value.
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Relationship of, A, to Inductor’s Energy-Handling Capability

The energy-handling capability of a core is related to its area product, A, by the equation:

2(Energy)(104)
Ap:*m‘u—, [cm®] [8-14]

Where: Energy is in watt-seconds.

B, i1s the flux density, tesla.

J is the current density, amps-per-cm’.

K, is the window utilization factor. (See Chapter 4)
From the above, it can be seen that factors such as flux density, B,,, window utilization factor, K,, (which
defines the maximum space that may be used by the copper in the window), and the current density, J,

which controls the copper loss, all impact the area product, A,. The energy-handling capability of a core is

derived from:

Energy = L2 , [watt-seconds] [8-15]

Relationship of, K,, to Inductor’s Energy-Handling Capability

Inductors, like transformers, are designed for a given temperature rise. They can also be designed for a

given regulation. The regulation and energy handling ability of a core is related to two constants:

E 2
G, )
K K,

Where, o, is the regulation, %:

The constant, K,, is determined by the core geometry:

W, ALK
K, ==ttt fem’] [8-17
e =y 0 Ml [8-17]

The constant, K., is determined by the magnetic and electrical operating conditions:
K,=0.145P,B(107) [8-18]

'The peak operating flux density, By, is:

B,=8B

de

+Bzﬂf, [tesla] [8-19]

s

From the above, it can be seen that the flux density, B, is the predominant factor governing size.
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The output power, P,, is defined in Figure 8-13.

Po(Ll) =Von!, Pa(Lz) = V( 1 [8-20]

(o (o 02! (02)

1 L ol L2_
in == (01) —» (02) — I
+ O_,_fm 4 1yl i O+
C1 l
CR1 CR2 2
V, + +
Vin & ol == % V(02) = Vo

Figure 8-13. Defining the Inductor Output Power.

Gapped Inductor Design Example Using the Core Geometry, K,, Approach

Step No. 1 Design a linear dc inductor with the following specifications.

L. INAUCIANCE, L oot et e e =0.0025 henrys
2. dC CUITENT, L oooiiiiiiiciiiccee et er et s e e s b e e e e et etb e et te s eabaesennseeabeestaaeeans = 1.5 amps
3.AC CUITENL, AL Looiiiiiie e e s = (.2 amps

4. OUPUL POWET, Py oot = 100 watts

5. REZUIALION, O oottt et s re s =1.0%

6. RIPPIE FIEQUENCY .ooivitiiiiiiereieie ettt ettt ettt sttt ebne st b e =200 kHz

7. Operating flux density, By .oooceoeeeniiiiiiciiiniie ettt ={0.22 tesla

8. €ore MAterial ........cooiiiriiiiiiiici e et e s = ferrite

9. Window utilization, K, .....c.cccoviviiorierimrieeie ettt se st es et ve e ene e =04

10. Temperature 115e g0al, T c.ooeiiiiiiiniiiiiiiie e s =25°C

Step No. 2 Calculate the peak current, .
Al
ka:[a+75 [amps]

I, =(15) +(l;2, [amps]
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Step No. 3 Calculate the energy-handling capability.

Energy = 2” * | [watt-seconds]

(0.0025)(1.6)°
Energy = B [watt-seconds]

Energy = 0.0032, [watt-seconds]
Step No. 4 Calculate the electrical conditions coefficient, K..

K,=0.145P, B, (10™)
K, =0.145(100)(0.22)*(10™*)
K, = 0.0000702

Step No. 5 Calculate the core geometry coefficient, K,.

(Energy)2 5
T K

e

o - (0.0032)’ s
* = (00000702)(T0)" ™

K, =0.146, [cm’]

Step No. 6 Select an ETD ferrite core from Chapter 3. The data listed is the closest core to the calculated

core geometry, K,.

1. COTe NUIMDET ..ottt s e et anese e et ene e =ETD-39
2. Magnetic Path Length, MPL ..ot =922 cm
3. Core WEIZht, Wity vttt ettt sttt s =60 grams
4. Mean Length Turn, MLT ..ot =83 cm

T € (o) o N (T TN VR SRR UR P =1.252 cm’
6. WINAOW ATEA, W, oot eta e eera e sar e erbs e sabe e e rabesebeesesrnessbaeasensas =2.34 cmt’
7. Area Product, A, ..o s =2.93 cm’*
8. COTE GEOMELTY, Ky ooueveurirmiauerseriisesiseseessmensesesssss st =0.177 cm’
9. SUIMACE ATCA, Ay oottt et e ettt e e et ee e et a e e e e e s eeane e e e e aneeaeas =69.9 cm’
10, MAterial, P oottt =2500u
11, MiIHhenrys-per-1K, AL ..ottt s s =3295 mh
12, Winding Length, G ..ot e =284 cm
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Step No. 7 Calculate the current density, J, using the area product equation, A,

2(E 10°
J =_(_ngy_)(__2, [amps-per-cm” |
B,A K,
2(0.0032)(10) ,
~(022)(293)(04) mpePerem]

J =248, [amps-per-cm’]

Step No. 8 Calculate the rms current, Iys.

Ay sy = ";'S , [em?]
1.51
— —(——), [cm®]

(248)

Ay, =0.00609, [cm’]

Step No. 10 Select a wire from the Wire Table in Chapter 4. If the area is not within 10%, take the next

smallest size. Also, record the micro-ohms per centimeter.

AWG =#19
Bare, 4,5, =0.00653, [cm’]
Insulated, 4, =0.00754, [cm’]

(E] =264, [micro-ochm/cm]

cm
Step No. 11 Calculate the effective window area, W,.q. Using the window area found in Step 6. A typical
value for, S;, is 0.75, as shown in Chapter 4.

Wy =Wo S, [om’]
W, =(2:34)(0.75), [em’]
W, =176, [cm’]
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Step No. 12 Calculate the number turns possible, N, using the insulated wire area, A,,, found in Step 10. A

typical value for, S,, is 0.6, as shown in Chapter 4.

w._ .S
N=—th=2 [turns]
AW
1. .
N (1.76)(0.60) . [tumns]
(0.00754)

N =140, [turns]

Step No. 13 Calculate the required gap, 1.

_ 0.47ZN“AC(10’ )_(MPL]’ (o]

g

’ L Ho
(1.26)(140)’(1.25)(10*) [ 9.22

[ = - , [cm]

¢ (0.0025) (2500j

I, =0.120, [cm]

Step No. 14 Calculate the equivalent gap in mils.

mils = cm(393.7)
mils = (0.120)(393.7)
mils =47 2 use 50

Step No. 15 Calculate the fringing flux factor, F.

/
F=le—im| 29
\/AL‘ lg
(0.120)  (2(2.84)
F=1 )
’ V1.25 . 0.120

F=141

Step No. 16 Calculate the new number of turns, N,, by inserting the fringing flux, F.

N = ——lgL—— [turns]
" 04z A F(10°)

N - \j (0.120)(0.0025)

(1.26)(1.25)(1.41)(10°")’
N, =116, [tumns]

[turns]
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Step No. 17 Calculate the winding resistance, R;. Use the MLT from Step 6 and the micro-ohm per

centimeter from Step 10.

_ HQ e
RL—(MLT)(Nn)(ij(lo ). [ohms]
R, =(8.3)(116)(264)(10), [ohms]
R, =0.254, [ohms]

Step No. 18 Calculate the copper loss, P,

2
Pcu - 1rm: RL’

P, =(1.51)°(0.254), [watts]
P, =0.579, [watts]

[watts]

Step No. 19 Calculate the regulation, a.

a:i;“ (100), [%]
0.579
:((100))(100), [%]

a=0.579, [%]

Step No. 20 Calculate the ac flux density, B,..

047N, F(Azlj(104)

e = , [tesla]
1 +[MPLJ
H

(1.26)(116)(1.41)(93j(104)

2

B{lC = 2 [tes]a]
(o.120)+(333j
2500

B, =0.0167, [tesla]

Step No. 21 Calculate the watts per kilogram for ferrite, P, material in Chapter 2. Watts per kilogram can

be written in milliwatts per gram.
mW/g =k £ B

mW/g = (0.00004855)(200000)" *” (0.0167)"**
mW/g = 0.468
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Step No. 22 Calculate the core loss, Pg.

i

P, =(mW/g)(#,,)(107), [watts]
P, =(0.468)(60)(10™), [watts]
P, =0.0281, [watts]

I

Step No. 23 Calculate the total loss, copper plus iron, Ps.

PZ = Pfe “+ chu’ [Watts]
P, =(0.0281)+(0.579), [watts]

P, =0.607, [watts]

Step No. 24 Calculate the watt density, y. The surface area, A,, can be found in Step 6.

W= %’ [watts/cm” ]
0.60
W= ( (62.97))’ [watts/cm’]

w =0.00868, [watts/cm’]

Step No. 25 Calculate the temperature rise, T,.

T 2450(1//)(0,326)’ [°C]

T, =450(0.00868)°™", [°C]
T =892, [°C]
Step No. 26 Calculate the peak flux density, By
0.4zN, F[I(,C + -»A—[)(IO“‘)
B, = 2 [tesla]
7 (MPL] ’
Lo+ ——
:le

(1.26)(116)(1.41)(1.6)(10™")

= , [tesla]

pk
(o.127)+(33%)
2500

B, =0252, [tesla]
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Note:

The big advantage in using the core geometry design procedure is that the wire current density is

calculated. When using the area product design procedure, the current density is an estimate, at best. In

this next design the same current density will be used as in the core geometry design.

Gapped Inductor Design Example Using the Area Product, A, Approach

Step No. 1 Design a linear dc inductor with the following specifications:

L. Inductance, L ..ottt e =0.0025 henrys

2. de CUITENL, L oottt =1.5 amps

3.0 CUITENE, AL Lot e = (.2 amps

4. OUtpUt POWET, Py oottt e e e = 100 watts

5. Current Density, J ..ot =250 amps-per-cm’
6. RIPPIE FIEQUEIICY .eoiiieieieiiiee ettt st e =200 kHz

7. Operating flux density, By, oo e =(.22 tesla

8. Core MAterTal ......covviieiiiirieeneet ettt sttt et = ferrite

9. Window Utilization, K .......ccooiiioimiiieee oot =04

10. Temperature riS€ Z0aL, Ty ..oveveviviirieiirieiitiiesie sttt et es e ee e eeaeann =25°C

Step No. 2 Calculate the peak current, .

Al
]p,( =1, +7, [amps]

1, =(1.5)+(Oj), [amps]

1, =16, [amps]
Step No. 3 Calculate the energy-handling capability.

2

Energy = 2" L, [watt-seconds]

(0.0025)(1.6)°

2
Energy = 0.0032, [watt-seconds]

Energy = , [watt-seconds]
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Step No. 4 Calculate the area product, A,

~ 2(Energy)(104)

o BJK,

2(0.0032)(10") \

= s, [om]
7 (0.22)(248)(0.4)

A, =293, [cm']

[em*]

Step No. 5 Select an ETD ferrite core from Chapter 3. The data listed is the closest core to the calculated

area product, A,,.

L. COrE NNUIMIDET ...ociiiiiiiiiiiie ittt et eete e e e e e saesee e e s e as e ssaeeaseemeeameeneanseenreenaeasaeannas =ETD-39
2. Magnetic Path Length, MPL ..ot e =922 cm
3. C0TE WEIZNE, Wige wovviiiiiiiieieeieecteeteette et ettt et e etae st esaeestesaeaasesssaanssasaneaesnseenes = 60 grams
4. Mean Length Turn, MLT ..ot s =83 cm

T (0 1 1N - T VSRR =1.252 e’
6. WINAOW ATEA, W, oottt e e ee e e e s e e ere s e e a e en e e e snneeas =234 cnt’
7. Area Product, Ay oo =2.93 cm*
8. Core GEOMEIrY, Ky ....oiuiiiiiiiiiiicie ettt =0.177 e’
0. SUIACE ATEA, A; crereeeiieeeee ettt ettt e et s s s e e s st a e e e errtaeeernnneeeeeraeaean =69.9 cm’
1O, Material, P oottt et ev et ettt =2500u
11. Millihenrys-per-1K, A L .ot =3295 mh
12, Winding Length, G ..ottt e =2.84 cm

Step No. 6 Calculate the rms current, L.

[r"ls = 0102 + AIZ > [amps]
I, = ./(1.5)2 +(0.2)7, [amps]

{,.. =151 [amps]

Step No. 7 Calculate the required bare wire area, A, p).

Ay zy =0.00609, [cm’]
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Step No. 8 Select a wire from the Wire Table in Chapter 4. If the area is not within 10%, take the next

smallest size. Also, record micro-ohms per centimeter.

AWG =#19

Bare, Ay, =0.00653, [cm?]

Insulated, 4, =0.00754, [cm’]
y7.9)

(—) =264, [micro-ohm/cm]
cm

Step No. 9 Calculate the effective window area, Wym. Use the window area found in Step 6. A typical

value for, S;, is 0.75, as shown in Chapter 4.

I/Va(cy}’) = Wn S3> [sz]
W) = (2.34)(0.75), [em’]
w. o =176, [cm’]

a(eff)

Step No. 10 Calculate the number turns possible, N, using the insulated wire area, A,, found in Step 8. A

typical value for, S,, is 0.6, as shown in Chapter 4.

Wy S
N =022 frums]
AW

(1.76)(0.60)

N=i—m
(0.00754)

N =140, [tumns]

» [turns]

Step No. 11 Calculate the required gap, 1.

047N 4 (107
== ! )—(MPL], [em]
L Hon
(1.26)(140)"(1.25)(10°) [ 9.22
= - s [Cm]
¢ (0.0025) [2500)
[, =0.120, [cm]

Step No. 12 Calculate the equivalent gap in mils.

mils = cm(393.7)
mils = (0.120)(393.7)
mils = 47.2 use 50
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Step No. 13 Calculate the fringing flux factor, F.

/
Fele—tiom| 2C
lg

VAC

(0.120)  (2(2.84)
=1 1

T2 | 0120
F=141

Step No. 14 Calculate the new number of turns, N, by inserting the fringing flux, F.

N = ~—£—— [turns]
" N04r A F(107)

N- \/ (0.120)(0.0025) frarns]

(1.26)(1.25)(1.41)(10*)
N, =116, [turns]

Step No. 15 Calculate the winding resistance, R;. Use the MLT, from Step 5, and the micro-ohm per

centimeter, from Step 10.

(LT, 42 )10°). - fohns]

(8.3)(116)(264)(10°°), [ohms]
0.254, [ohms]

R,

I

RL
RL

I

il

Step No. 16 Calculate the copper loss, P,

P, =IR

rms TTL?

P, =(1.51)°(0.254), [watts]

cu

P, =0579, [watts]

cu

[watts]

Step No. 17 Calculate the regulation, .

a=0579, [%]
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Step No. 18 Calculate the ac flux density, B,.

047N, F(A]J(IO"‘)
2
B _= [tesla]

, +(MPL) ’
Hy
(1.26)(116)(1 41)(022)(104)

B, = 927 , [tesla]
(0.120)+ ( : J
2500

B, =0.0167, [tesla]

Step No. 19 Calculate the watts per kilogram for ferrite, P, material in Chapter 2. Watts per kilogram can

be written in milliwatts per gram.

mWig =k £ B,
mW/g = (0.00004855)(200000)(1‘63) (0.0167)
mW/g = 0.468

(2.62)

Step No. 20 Calculate the core loss, Py..

II

P, =(mW/g)(W,,)(107), [watts]
P, =(0.468)(60)(107), [watts]
P_=0.0281, [watts]

ll

Step No. 21 Calculate the total loss copper plus iron, Ps.

R =P, +F,, [watts]
P =(0.0281) (0.579), [watts]

P, =0.607, [watts]

Step No. 22 Calculate the watt density, . The surface area, A,, can be found in Step 5.

l//=£, [watts/cm” ]
AT
(0.607) watts/om’]
= , [watts/cm
"7 (699)

w =0.00868, [watts/cm’]
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Step No. 23 Calculate the temperature rise, T;.

Z-:450(W)m&®, [°C)
T, =450(0.00868)°™", [°C]
T, =892, ['C]

Step No. 24 Calculate the peak flux density, By,

047N, F(I{,C + %j(lo”‘)

B, = , [tesla]
MPL
lg+(j
/Lllﬂ
2 41)(1.6)(10°
~(126)(116)(1.41)(1.6)(10) st

Pk

(0.127) +(9:%2-]
2500

B, =0252, [tesla]

Step No. 25 Calculate the effective permeability, [.. Knowing the effective permeability, the ETD-39

ferrite core can be ordered with a built in gap.

u, = —7’"
1 g
{MPL]M
2500
H, = ( )
(0.120)
1+ ——1(2500)
9.22

H, =745 use 75

Step No. 26 Calculate the window utilization, K,,.

N AW(B)

Kll = -
W,

a

~ (116)(0.00653)
T (234)

K, =0.324
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